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39- A large crowd ..... inside the building for the lecture.
1) gathered 2) escaped
3) received 4) admitted

40- The manager’s room was..... at the end of the corridor.
1) picked 2) location
3) locate 4) located

41- My children are really .... nicely. they are very polite.
1) picked up 2) turned up
3) brought up 4) made up

42-we managed to make (a/an) .... to see the president

1) argument 2) experiment
3) appointment 4) applicant
43-1...... for the advertisement | saw in the morning paper|
1) contracted 2) mentioned
3) attended 4) applied
44- ... usally conduct separate experiments to discov:
a subject.
1) Managers
2) Scientists
3) Coaches
4) Accountants

45- Irregular exercises may .....
have an orderly program.

your health. you shoul

1) consume 2) divide
3) define 4) damage
46- Finally, thirst will ..... him and he will tell us the truth.
1) come over 2) come about
3) over come 4) come across

47- Rapid grawth of population is the main problem in
.... countries.

1) developed

2) developing

3) undeveloping

4) development
48- Let’s have her ..... the dishes tonight.

1) to wash 2) washed
3) wash 4) washing
49- He Said that he ....... his room the previous week.
1) would clean 2) cleans
3) cleaned 4) had cleaned

50-..... my assignments, | won’t be able to start the gam
You have to wait till it is finished.

1) Having done 2) Doing

3) Todo 4) In order to doing
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